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Algebra 2 (CP) Name ID: 1

2.1 to 2.5 (Part A) Review for Quiz | Date Period

Plot the points and label points T, U, V.
State the quadrant or axis that each point lies in.
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Find the slope of the line through each pair of points.
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Write the slope-intercept form of the equation of each line. x
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Sketch the graph of each li
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Sketch the graph of each line using intercepts.
Label the x-intercept (X) and y-intercept (Y)
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Algebra 2 CP Name ID: 1
2.1to 2.5 (Parg B) Review for Quiz Date
=MX+o

Write the slope-intercept form of the equation of each line given the slope and y-intercept.
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3) Write the point-slope form of the equation of the line through the given point with the given

slope through: (5 —3{ slope = *3 E N
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4) Write the point-slope form of the equation of the line through the given points. (use 1st point))
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Write the slope-intercept form of the equation of the line through the given points through:
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State if there appears to be a positive correlation, negative correlation, or no correlation.
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Construct a scatter plot.

State if there appears to be a positive correlation, negative correlation, or no correlation.
When there is a correlation, find the slope-intercept form of the equation of the line that best
fits the data.
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Algebra 2 Name I 1

2.1 to 2.5 (Part C) Review for Quiz Date Period
Evaluate each function.
1) w(n) =2n - 5; Find w(0) vel 2) f(x)=3x; Find f£(~10)
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3) glx) = 4x — 2; Find g(2) Z= 1) Hn)=n -2 Find H-9)

h(-4) = -44-2 £
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5) p(x) = x? + x; Find p(8) 6) h(n) =-3n> + 3; Find h(O)

h(0) = =3(0)3+3 =(D)
- P(3)= (9> -+%:

7) g(n) =n® — 4n; Find g(~10) 8) w(x) = x* - 3x; Find w(2)
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